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SECTION- A
i) General Awareness

Which of the following is not a 6 The strongest among the Maratha
Government-sponsored organization 7 kings was
(A) Small Industries Development {A) Chatrapathi Shivaji
Bank of India (B) Balaji Vishwanath

(B) NABARD (C) Balaji Baji Rao
(C) National Housing Bank (D) Chatrapathi Shahuj
(D) 1CIC| Bank

- 7. Which of the following is the largest
Which of the following planets is planet of our solar system ?
nearest to the earth ? (A} Earth
(A) dJupiter (B) Satum
(B 'Mercury (C) dupiter
(©) Mard (D) Uranus
(D) Venus

8. The Language of the discourses of
Euc.idhism hgcame the state religion Gautara Bluddha was
during the reign e_f (&) Bhoipit
(A} Chandragupta Mourya }
(B) Ashoka {B} Mag?adhl
(C) Pali

(Cy} Samudragupta .
(D) Kumaragupta — 1 (R Bk
Name the type of activity that & WhatJ 8. Dunlopinvemad
Mary Kom specializes or excels in (A) Model airplanes
(A) Tennis (B) Inkpen
(B) Boxing (C) Gun
(C) Wresiling (D) Pneumatic rubber tire
(B) Sheoting 10, Which of the foliowing is the oldest
Capital of Greece is dynasty ?
(&) Athens (A) Chalukyas
(B} Prague (B) Cholas .
(C) ng.gia (C) Pallavas
(D) Budapest (D) Satavahanas
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11. Capital of Burma is 16. Krishna Devaraya, the 181 century
(A} Shillong ruler of Vi]aya;!agar kingdnl?:, was a
. t = —— = M re.
(B) Karachi great patron o erature
: (A) Telugu
(C) Rangoon (B) Tamil
| (D) Dnaka (C) Kannada
| -
12. A situation of monopaly in the market (D) Hindi
r refersio 17. The Vice-President of the Indian |
[ (A) One seller, one buyer Union is elected by the
P (B) Many sellers, one buyer (A) Members of Rajya Sabha
v (C) Many sellers, many buyers (B} Members of Lok Sabha
(D) One seller, many buyers {G} Members of both the Houses of
| Parliament |
| 13. Which §undamental Right of the (D) Members of Parliament and the
| Indian Constitution prohibits traffic in Members of State Legislatures :

| human beings ?

X _ 18. Who was the Chairman of the Drafting
(A) Right to equality :

Committee of the Constituent Assembly 7

(B) Hight-againstemmi‘taﬁcn (A} B.R. Ambedkar |
(C) Rightto freedom (B) C.D.Deshmukh
(D) None of the above (C) K. M. Munshi :

) (D) T.T.Krishnamachati
14. Two persons are nominated by the

President to be members of 19. The joint sitting of the Parliament is
i Lok Sabha to represent the presided over by the

(&) Anglo Indians (A) Prime Minister of India

(B) Indian Christians (B) President of India

(C) Chairman of the Rajya Sabha

(C) Buddhisis
(D) Speaker of the Lok Sabha

= (D) Parsis
20. Who is the Supreme Commander of

15, The Prime Minister is the Chairman of ihe Armad Forees i Ifidia 2

(A) Planning Commission (A) Prime Minister
(B) Union Public Service Commission (B) Defence Minister
(C) Finance Commission (C) President
(D) Minorities Commission (D) Home Minister

| A B-
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ii) General Intelligence and Reasoning Ability

Find the correct aliernative for the
guestion mark :

2,8,8:63,7

(A) 1038

(B) 1998

(C) 3008

(D) 3968

What should come next in the
following number series ?
§73186429753186B6487583
864975

(A) B ¢

(B) 3

(C) 6

(D) 4

‘DIVE’ is related 1o 'EIVD' and
‘SOUL’ is related to 'LIUS in the
same way as ‘FEAR' is related to
(A) AERF

(B) AFRE

(C) RFAE

(D) REAF

In & class of 50 students, 18 take
Chorus, 26 take Band and 2 take
Chorus and Band. How many
students in the class are not
enrolled in either Chorus or Band 7

(a) 12
(B) 8
(C) 10
(D) 6

25.

28,

27.

28.

29.

‘12" isrelated to '36" in the same way
as ‘17 is related to

(A) 51 (B] 34

(C) 68 (D) 83

A man had returned after aday's bird -
shooting. He was asked how many
birds he hadin the bag. He said “they
are all sparrows but six ; all pigecns
but six and all doves but six", how
many birds had he in all 7

(A) 18 (B) 9

c) 27 (D), 36

I am sixth in the queue from either end.
How many people are there in the
queus ?

(A) 13 B) 12

€y 11 (D) 10

if Gopal runs slower than Krishna and
Krishna runs as fast but not faster than
Hargobind, then does Hargobind run
faster or slower than Gopal 7

(A} Slower

(B) Equal

(C) Same

(D) Faster

A shepherd had 17 sheep. All but nine
died. How many did he have left 7

(A) 9 (B) 8

(c) 12 D) 7
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30,

31.

3z.
33:
34.

35.

White the next number in the series .

14,16, 14, 17,12, 18, 11, .....
(A) 12 (B) 19

(C) 22 (D) 14

Find the correct alternative for the
guestion mark :
3.8.5,20,7,42,9,7
(A) 72

(C) 80

(B)
(D)

54
66

f62+51=16.91+85=24,53+82=12,
72 +88=25then73+83=7

(A) 4 (B) 20

(C) 15 (D) 37
Find the wrang number in the series
69, 55, 26,13, 5

(A) 55 (B) 26

(C) 13 (D) 5

f6 x 2=31,8x4=422%x2=11,
BxB5=33then8 =« 8=7

(A) 33 (B) 43

(C}) 14 0y 42
Answer ina short cut methad (899)2
(A) 19,848

(B) 1,08,431

(C) 93670

(D) 9,98,001

36.

37.

38.

39.

40.

s
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IfA =2, B=3,C=4andsoon, what
does the following number stand for 7
14,2, 11,16, 18 {
(A) NBKNS
(B) KLEVE '
({C) MAJOR |
(D) TEACH -

Insert the missing number :

8 5 3 10 |
7 5} G ¥
14 8 9 2
(A)
(8)
(C}
(D)

24, 72,36, 108, 54,1862,
(A) B3
(B) 227
(C) 243
(D) 81

2,5,4,9,8 14, ...
(A) 14
(B) 27
(C) 81
(D) B86

Insert the missing letter :
D,K.GN—-QMT
(A) K

(B) J

(C) P

(D) O
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iii) Arithmetical and Numerical Ability

Represent 0.32 into percentage.

(A) 0.032%

(B} 0.32%
(©) 32%
(D) 3.2%

When 75% of a number is added to
75 it results in the number itself; the
number is

(A) 300
(B) 200
(C) 240
(D) 480

A sum of Rs. 600 was lent for two
years al 2% compound interest. The
interest fortwo years will be

(A) Rs. 20
(B) Rs.25

(C) Rs.50.20
(D) Rs.20.20

9/16 of a number is 51 greater than
‘B0% of the number, then, that number is
(A) 832
(By 704
(C) 980
(D) 816

(72 % 72—-70 % 70) = 142
(A) 1

(B) 2

(C) 142

(D) O

46.

47.

48,

49,

7 pens and 5 pencils cost Rs. 16.90.
Had it been a purchase of 5 pens and
7 pencils, the expense would have
been Rs. 2.60 less. If 50, a pen cosis

(A) Rs.1.65
(B) Rs.2.25
(C) Rs.1.95
(D) Rs.2.15

The value of

8025 % 103 + (56 + 47) x 1975 1s
(A) 80,25,000

(B) 19.31.025

(C) 10,30,000

(D} 10,30,725

The surface area of rectangular
parallelepiped with length 5 m,
breadth 4 m, height 3mis

(A) 80sqg.m.

(B) 70sg.m.

(C) 94sq.m.

(D) 84sg.m.

To a certain number 6 Is added, The
sum is multiplied by 6 and the product
is divided by 13. 7 is subtracted from
the guotient. I the remainder be 5, the
number is

(A) 30
(B) 35
(C) 20
(D) 15




qunload From - www.allgovtjobsindia.in

50 The sum of two numbers is 21 and

their product is 80. Find the two

numbers.
(A) 15,15
(B) 15,12

(C) 15,6
(D) 20,15

51, 4+4.444+44.4+4.04 +444=7
(A) 500.88
(B) 577.2
(C) 495.22
(D) 472.88

52, The %otal number of students in a
school Is 4800, out of which 60% are
girls, What s the total number of boys
in this school 7
(A) 1980
(8) 1910
(C) 1820
(D) 1830

53 Find the simplest number which is
divisible by 12, 15, 20 and is a periect
sguare.

(A) 400
(B) 900
(C) 1000
(D) 180

54 Find the least number which when
divided by &, 9, 12 and 15, leaves the
remainder 1.

(A) 359
(B) 181
(Cy 179
(D) 361

55.

58.

&87.

58.

53

a0
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Divide 1200 in the ratioof 1:2: 3.
(A) 300,350,450
(B) 200,400, 600
(C) 300,400, 500
(D) 100,250, 850

11 | buy a radio for Rs. 300 and sell it
for Bs. 330, my gain percentage is
(A) 3%

(B) 10%

(C) 15%

(D) 20%

An umbrella marked at Rs: 80 is
sold for Rs. 88. What is the rate of
discount ?

[:A'J 15%

(B) 17%

(C) 18%

(D) 20%

A train 250 meters long passes a pole
in 12 seconds, Then the speed of train
is

(A) 25 km/hour
(B) 68 km/hour
(C) 72 km/hour
(D) 75 km/hour

7854 + 286 + 8514 + 78 ="
(A) 15732
(B) 14782
(C) 16832
(D) 16732

5826 + 2694 + 7 + 384 = 12437
(A) 2533
(B) 1533
(C) 3533
(D) 4533
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iv) Test of Language : Hindi

: syra ooy« e | |
" 61, ‘a1tg’ - SO SgAIA T8 66. ‘U an I Bfidem %)

(A) i (A) T T TR
(B) A1g (B) wgerEd &t
(C) s (€) TR
(D) e e B (D) < =

62. fafemeragrEA w92 67. L WA G w91
(A) fafea (A) TR
(8) Fafel B) g=d
(C) Wfead (C) g
(D) fTafear (D) FE

63, HleTh ] ST e & 68. HHETE
(A) STl (A) sferfee
(B) (8) Ui
(C) e (©) i
(D) e (D) HfEiE

B4, VER I YE Y 69. Il % T 14 2
(A) T (A) TR
(B) = B fas
(C) (©) femait
(D) S (D) @i

65 VEEIE 70, et <1 e 14 B
() 9B (A) & |
B) (B) wemaETEd -
(C) BFH (C) =TI ST
(D) fdw (D) TS T Bl
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71.

72.

73.

74.

75

B

90 i Hed &
(&) Tamt
(B) Toma

" (C) W UEH

(D) T3Hd

TEE g

(A st s TR
(B) foash o i e v 4 |
©) fastimE gl |
(D) ﬁaﬁﬁg‘@(@wﬁﬁm I

eI w0

(A) F9h TE TR AR |
(B) I TG TET G |
(C) 3 I SgT TS |
(D) F9% T SEaaH 2 |

o + EN - A aE
(A) &
B) =
(C) =FsH

(D) T

Q+ﬁ3ﬁﬁﬁ¢ﬁﬁ%
(A) S
(B) 3,
(C) =T
(D) Bl

_ ®l

7=

78.

Tr.

78.

18,

80.
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1Tt 1 I EER
(A) 3Td B g
(B) = &
(C) =7aT 3T ST
(D) RET T

AT A B

(A) ST H L
(B) ®HS FAT

(C) TEIH awE

(D) SATRTSTATS H 214 B

Fi @ Efiferm e @
(A THEET
(B) T
(C) A
(D) =i

] F1 F o B9 2
(A) g
(B) i
(C) @4
(D) =sfean

E AT

(A) A s g o gar |
(B) i s e = e |
() e syt Rl w1 g |
(D) T evot Heferi=h! e |

: =
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v} Test of Language : English

STTET OHETOT @ S
A boat downwithallthe | 86. He her for a long time
passenger on board. before he finally married her.
(A) sunk (A)  knows
(B) sinks (B) will know ‘
(C) sank (C) will have known
(D) sinking (D) had known
The same song fortwotimes: B7. He *mfrill win the _ra,ce if he
R running regularly. .

(A} singing .

(A) practices
(B) 'sung (B) jpraﬂtice
(C) ySinged (©) will practice
(D) sings (D) will be practiced
When | reached the station the train 88. i more teans withdraw, the

tournament
(A) leaves (A) may have to be cancelled
(B) had left (B) will have been cancelled
(C) lett (C) will have cancelled
(D} leave (D) would cancel
Meena ta go'with her friends, 89, Thisisfirsttmel ____ a
(A) wanted i
(B) wanting (A) ea.:rer had used
(©) wants .(E!} will ever use |

; (C) have ever been using

(D) s wanted _ ' - _

(D} have ever used
|- ery el 90, | wish | it.
(A)  known (A) will break
REs) e (B) would have broken-
(C) know (C) should have broken
(D) knowing (D) had broken

-18-
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91, liListime thal we 96, |am getting nervous; my brother
something useful. ! ____his work by now.
(A)_ may do (A) should have been finished
(B) did (B) should have finished
(C) should have been done (C) should be finishing
(D) could have been done (D) should be finished
|
92. You have done very well §7. Theohief wantedic know |
(A) haven't you ? —
(B) 'haveyou? (A) how | had
() sntit? (B) how had |
() T (C) thathow had |
93. Does yourfa?her know (D) how would | have
in'English 2 98. Heis ___ with stamp collection.
(A) thatwhy you failed o8 Ghstssd
(B) why you failed ®) ke
(C) did you fail
(DY why have you been failed €y love
(D) wants
g4. Lastyearhetoldhiswifethat
KEd eraRErE: 99. Flood has 10 lives.
(A) | hate you for your ) aken
(B) | have been hating you for your (B) demanded
(C) He hated her for her (C) claimed bl
(D) He was hating her (D) asked ] |
95. Hewould notwrittenthisifhe _ 100. Imust___ myluggage and
the news. leave for station. ‘
(A) would not hear (A) pack
(B) would not have heard (8) tag
(C) had not been heard (C) tie
(D) had not heard (D) bind
Ax -19-
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SECTION - B
Post Specific Subjeci-Related Questions

101. 'Leprc:-sy is also called 105. Learning depends on cognitive
(A) Hartmann's disease development
(B) Hansen's disease (A) Always
(C) Humprey's disease (B) Sometimes
(D) Harry's disease (C) Never

102. Which is a typical feature associated (B} In calcutation

with skin patches caused due to

leprosy 7 106. An example of an Development
(A) Loss of sensation over the affected Disorder is
4 skin (A) Mental Retardation
(B) Skin over the affected areas (B) Dyslexia
appears very dark
(C) ADHD

(C) Extreme pain over the affected
skin (D)

(D) None of the above

Autistic Spectrum disorders

107. In learning disabilities, the name for

103, Which of the following is an example mathemalical disorder is

of a Specific Learning Disability 7 (A) Dyspraxia
(A) Mental Retardation (B) Dyslexia
(B) Dyslexia (C) Dyscalculia
(C) ADHD

(D) Dysphasia
(D} Autistic Spectrum disorders

. y g 108. Which of the following may occur in
104.  Which of the following is an example:

A

of an intellectual disability ?

(A} Mental Retardation

(B) Dyslexia

(C) ADHD

(D) Autistic Spectrum disorders

Expressive Language Disorder 7
(A) Limited amount of speech

(B) Difficulty learning new words
(C)} Difficutty finding the right word
(D) All of the above
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109.

110.

111.

112,

Which of the following is NOT a
physical cause often associated with
Phonclogical Disorder 7

(A) A hearing impairment
(B) Cleft palate

(C) Small frontal lobes
(D) Cerebral palsy

Which of the following is a technique
used to address stuttering 7

(A) Purposeful speech
(B) Practical speech
(C) 4elayed speech
(D) Prolonged speech

Which of the following criteria can

be used to define intellectual

disabilities 7

(A) Significantly below average
intellectual functioning

(B) Impairments in adaptive
functioning generally

(C} These deficits should be manifest
before the age of 18— years

(D) All of the above

The following are characteristic of
autism except

(A) Onset after 6 years of age
(B) Repetitive behaviour
(C) Delayed language development

(D) Severe deficit in social interaction

113

114.

115.

29,
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What is a hidden disability 7

(A) Someone who is feariul of going
outside of their house

(B) A disability that |s not obvious by
looking at someone

(C) There are no hidden disability
(D) Both (A) and (B)

‘Which of the following is an example

of a hidden disability ?
(A)  Autism

(B) ADHD

(C) Bipolar

(D) All of the above

It you cannot understand someone
with @ communication impairment

(A) do not ask the person fo repeat
what they had said, because you
might offend them:.

(B) just pretend you understood them
and hope you guessed what they
said.

(C) politely ask the person to repeat
what was said and repeat it back
to make sure what you thought
was said |s correct. )

(D) none of the above
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116. If you find a student wearing some 120. Sign of creative child is her/his

odd dress in your class, you will (A) Intelligence

A (A) Ask the student not to attend the ,
| class (B) Good behaviour
(B) Make a joke on him (C) Creativity
(C) Counsel him not to wear such (D) Good memory
clothes in a class .
(D) Not give any attention 121. Most psychologists believe that
development is due
117. The raw material of thinking Is (A) Largely to nature
S il (B) Largelytonurture
L. (B) Semantics _ 1
A (C) Tonature and nurture acting
{G) Man separately
D) Child
{ i (D) Toan interaction of nature and

. : rture
118. The most important quality of an e

effective teacher is

(A) Deep knowledge aboutthe subject 122. Frobel's most important contribution
taught. ' to education was his development of

the

(B) A strict disciplinarian
\ (A} Vocational Schools

(C) Goed rapport with students
(D} A good motivator (B) Public High Schoal
(C) Kindergarten

| 118. fﬁ_glrl st-gden? shows talent and (D) Latin School
i interest in science but her parents

are pushing her to take humanities

( stream. What advice would you 123. A major strength of ecological theory
' suggest to the girl 7 18 1ts framework for explaining
| (A) Tolisten to her parents (A) Envirenmental influences on
(B) To be focused on her favourite development
- BUBIBEIS (B) Biological Influences on
(C) Talk to her parents and point out development
her talent

(D) Encourage her to try for (G}, "Cogarive devalap‘m el

scholarship; so that she can (D) Affective processes in
study the subject of her interest development

Ax 24
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1256,

126.

127.
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Absenteeism can be tackled by
(A)
(B)
(C)
(D)

Punishing the students
Giving the sweets
Teaching

Contacting the parents

If an girl child does notcorner to
school regularly you will

(A} No bother

(B) Struck off her name

(@) Complain to the Principal

(D) Meet the parents and encourage
them

In co-education you won't

(A) Make separate raws of hoys and
girls
(B) You give preference to boys aver
qirls
(C)

(D)

You give preference to none

You deal according toned

One of the basic principles of
socializing individuals is

(A)
(B)
(C)
(B)

Religion
Caste
Education

Imitation

-26-
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129.

130.

13T,
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Good reading aims at developing
(A)
(B)
(C)
(D)

Understanding
Pronunciation
Sensitivity

Increase factual knowledge

Nature of children are like
(A)
(B)
(C)
(D) Destructive

Imitative
Consiructive

Imaginative

How does a teacher can improve the
attention of a student 7

(A)
(B)

By self monitaring

Monitoring by head master/
Principal

()
(D)

By observation

By introducing interesting ways
of teaching

A group of students are found to be
harassing another student, What
should be your reaction ?

(A)
1B)
(C)
(D)

Punish the students
Send to their parents
Counsel the students individually

Give them severe warning
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132, \What is the unit of heredity ? 136. Gifted students are
y
{ (A) Chromosome (A) Non-assertive of their needs

(B) Gene

(C) Fertilized cell
(D) Zygote (C) Independent of teacher ‘

(D) Introvertin nature

(B) Independent in their judgement

133. Smallest unit of meaning in a

language is 137, Which of the following is an example
(A) Syntax of a fine motor skill ?
l_
(B) Morpheme (A) Climbing
C) Pragmatics
{)i 4 (B) Hopping
(D) Phoneme
(C) Running
134 Achild of 16 years scores 75 inan IQ (D) Writing
test; his mental age will be o
years: 138. Successful inclusion requires the
T following except
(B) 8 .
{A}) Involvement of parents
(C) 14
D) 15 (B) Capacity building

| (C) Sensitization
135, Vygotsky theary implies
(A) Child will learn best in the
company of children having 1Q
lesser than his/her own

(D) Segregation

139. Who is the father of genetic

: , epistemology ?
(B) Collaborative problem solving P e

(A) Piaget

(C) Individual assignments to each
other (B) Bruner .

(D) After initial explanation, do not
support a child in solving difficuit
questions (D) Dewey

(C} Vygotsky
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140. The besiplace of social development
for a 12 years old child is
(A)
(B) Family

Neighbourhood
(C) Playground

(D) School

141, The period of sensory motor

adaptation of Piaget is
(A) " 0-2 years

(B
(C) 3-Byears

1-3 years

(D) 4-6years

142. This is an instructional material fora

teacher
(A)

(B) Supplementary material

Workbooks

(C) Atlas
(D) Curriculum guides

143. The activity techniqué is

(A) Class-centred
(B) Subject-centred
(C) Student-centred
(D) Teacher-centred

A+
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A normal child of 12 years is most
likely to

(A) Have difficulty with gross motar

coordination
(E] Have feelings of anxiety aboul]
pleasing adults -

(C) Confine his/her Interests to here

and now
(D)

Be eager for peer approval

What is called education acquired
without any specific purpose. fixed
peried and place 7

(A) Indirect Education
(B) Individual Education
(C) Informal Education
(D) Formal Education

What is the compulsory element of
learning 7

(A) Ability to read
(B)
(C)
(D) None of these

Bright mind
Tendency to know

Why are curriculum activities used in
teaching 7

(A)
(B)

Make teaching easy

To make teaching interesting,
gasy to understand and effective

(©)
(2)

To make teaching attractive

To assist the teacher
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What is teaching through deductive
methad ?

(A)
(B)
()
(D)

From general 1o specific
From specific to general
From macro to micro

From easy to difficult

Which one of the following education
systerns supports scientific progress ?
{mi Realistic Education
(B)
(C) Naturalistic Education

(D)

|dealistic Education

None of these

How the studenis should be
motivated to get success in life ?

(A) Elected study
(B) Incidental study
(C) Intensive study

(D) Learning by recitation

Which system of education was
propounded by Mahatma Gandhi ?

(A)
(B)
()

Teaching by activities

Teaching through music

meditation etc.

(D} All of these

Teaching ihrough listening,

152.

153.
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Who said, “Reverse the usual practice
and you will almost always do
right 7"

(A)
(B)
(C)
(D)

Mahatma Gandhi
Rousseau
Dewey

Plato

Which Is not Naturalism's aim of
Education ?

(A) Education is the notion of man's

evelution from lower forms of life
(B) To equip the individual or the
nation forthe struggle for existence
50 as to ensure survival

To help the pupils o learn to be in
harmony with and well-adapted 10

(C)

their surroundings

(D) To inculcate ethical and moral
values in the pupils

Which is not the nature of philosophy 7
(A)
(B)

It is a science of knowledge

It is a collective ensemble o
various viewpoints
(C) Iiisa planned attempt on seard

for the truth

(D) It is the totality of man’s creati

ideas
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158.

158

B

On what is based the need for

teaching philosophy of education 7

(A) Al pupils are not alike

(B) Different systems of education

found in different countries

(C) Different philosophies expressed

different points of view on every

aspect of education

(D) Different ways of teaching-

learning
4

Which among the following does not
fit into the scheme of educational

goals of the |dealists 7
(A) Care of body

(B) Moral values

(C) Skills

(D) Self-expression

Religious education is strongly

advocated by

(A) Pragmatists
(B) Idealists

(C) Realist

(D) Existentialists

a4

158.

1889,

160.
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Which of the following is not eriticised
By realism in education ?

(A) Teachers denying the value of
school co-curricular activities

(B) Pupils cramming for knowledge
from baoks for reproducng in
examination

(G) Organizing schools in a way thal
Is conducive to practical training in
citizenship

(B) Teaching which drifts away from
lifa of the child

What is development of human
potentialities in education 7

(A) Individual aim
(B) Social aim
(C) Individual as well as social aim

(D) Specific aim

Preparing the child for future life as
an aim of education is preparing child
for

(A) Some suitable vocation
(B) Some particular course of study

(C) Facing all kinds of emergencies
and situations of future life

(D) A happy married lite
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In the context of education,
socialization means

(A) creating one's own social norms
(B) respecting elders in society

(C) adapiing and adjusting to saocial
environment

(D) always following social norms

Vygetsky emphasized the
significance of the role played by
which of the following factors In the
learning of children ?

(A) Hereditary
{E‘i Moral

(C) Physical
(D) Social

When a child with a disability first
comes to schoal, the teacher should

(A) refer child to a special school
according to the disability

(B) seciude him from other students

{C) discuss with the child's parents to
evolve collaborative plans

(D) conductan admission test

Error of learners often indicate
(A) how they learn

{B) the need for mechanical drill
(C) absence of learning

(D) saocio-economic status of the
learners

165.

1686.

187Y.
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Current understanding of the concept
of mental retardation in psychiatry
does not

(A) Etiological understanding of
intelligence and its impairment
(B) Assessment methods and

management of for associated
comorbidity

(C) Not clinically recognized as :
developmental disorder

(B) Needs to meet criteria of
impairment and dysfunction to
be called disorder

People with mild mental retardation
usually

(A) Do not develop speech

(B) Cannot engage in clinical
interview

(C) Cannotachieve full independenca!

(D)  Main difficulties are with regard tof
academic school work

People with moderate mental
retardation usually have

(A) Limited language and
camprehenston skills

(B) Self-care and motorskills are goot

(C) They cannot learn the basic skills
of reading, writing or countinig

(D) As adults cannot do simple
struclured practical work
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In People with severe mental
retardation

(A) The cause Is unlikely to be of
arganic efiology

(B) Often do not have motor
impairment ar other
neuropsychiatric sequelae

(C) Have good academic achievement

(D) Clinical picture is similarto
moderate mental retardation

Psychopathology in mental
retardation

(A) Can vary depending on the
cognitive and intellectual ability

(B) Can vary depending on the level
of communication

(C) Observation and information from
carer is.an important diagnostic
necessity

(D) Allthe above

People with leaming disability

(&) Cannot have savere impalirments
in one particular area

(B) Cannot have a particular area of
higher skill

(C) Can have severe impairments in
one area and particular areas of
higher skill

(D) All of the above

171.

172.

173.

174.

2,
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Which from the following is NOT an
infarmal assessment 7

(A) Assignment
(B) Observation
(C) Rating scales
(D) Discussion

— includes data concerning
family background and educational
development.

(A) Case study

(B) General behaviour
(C) Genetic approach
(D) Adequacy

For growth of children some parents.
and teachers were over concerned
about providing

conditions.

(A} Cerlain

(B} Fundamenially
(C) Powerful

(D} Healthful

A quantitative description of
experienced data is
a measurement,

(A) Simply

(B} Particularly .
(C) Individually

(D) None of these
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To read the lesson before teaching it
is called

(A) Measuremertt
(B) Teaching practice
(C) Preparation

(D) Lesson plan

Teaching should aim at

(A) enhancing children's natural
desire and strategies to learn

(B) reading the lessons in the text book

(C) ‘giving class work, homewaork.
project work and conducting tesis

(D) baoth (B) and (C) given above

Children learn through

(A) experience. experimentation,
making and deing things etc.

(B) reading, discussion, listening,
thinking and reflecting etc.

(C) expressing oneself in speech;
writing etc.

(D) all the above

Learning takes place
(A) inthe school
(B) outside the school

(C) both within and outside the school

(D) only in the classroom

174.

180.

181

182.
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“The ability to make a set of questions
for a given answer is a valid test of
learning”™.

(A) Agree

(B) Disagree

(C) Strongly disagree

(D) Children can't make [ frame
guestions

Curriculum is a
(A) atextbook

(B) abockofdo’s and don'ts for
teachers

(C) aprogramme of study

{'D) a book of intelligent criticism

Understanding and use of language(s)
enables the child to

(A) make connections between ideag|
(B) people and things

(C) relate to theworld around them
(D) allof these

The view that “adjustment differs from
maladjustment in degree rather than
in kind” is psychologically

(A) Correct

(B) Incorrect
(C) Correct sometimes
(D) Incorrect in certain situation




183,  Which may not be a symptom of

184.

185

186.

A

maladjustment 7
(A} Nail biting
(B) Daydreaming
(C) Selfishness

(D)

Excessive reading for vicarious
excitement

Which is not included in the special
provisions for dealing with the gifted
children 7

(A)
(8)
(C)
(B

Acceleration
Adaptation or enrichment
Aﬂliiity grouping

Schemes of special scholarships
and awards

For dealing with the gifted child which
is the most realistic and practicable
approach

(A) Enrichment alone

(B) Acceleration alone

(C) Segregation

(D) A combination of all these

Which is a more adequate definition
of the exceptional child ?

(A)
(B)
(C)

He is intellectually very superior
He is emotionally undeveloped

He is socially much different from
others

He is one who deviates from the
narmal child in mental, physical
and social characteristics to sueh
an extent that he requires a
modification of school practices

(D)

187,

68

184.

180.
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A gifted child s never defined as one

(A) Whose IQis 140 or above
(B) Whose performance is consistently
remarkable in music, art, social
leadership and other forms of
expression

(C) Whose ability is within the range
of the upper two per cent to three

per cent of the population

(D)

Who is extremely different fram
others of his age

The determinants of personality are
(A)
(B)
(C)
(D)

Social
Cultural
Biological

All of these

Wherever thereis g barrier, therg is
(A)
(B)
(C)
(D)

Frustration
Coaonflict.
Mental iliness

Mone of these

A conflict means or implies

(A) Disorganisation of behaviour

(B) Incompetence

(C) Incomparability in metives and for.
goals

(D) Insecurity in feeling
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Psychology's major contribution in
education lie in

(A} Providing a scientific foundation

for the art of teaching

(B) Defining the goals on which the
teacher should strive

(C) ldentifying potentially successiul
educational procedures.

(D) Comparing the relative

effegtiveness of various teaching

procedures

Education psychology is oriented

towards

(A) The study of the peculiarities of
individual children

(B) The application of the principles
and technigues of ;}sychuiogy 10
the solution of the problems of the
classroom

(C) The farmulation of hypothesis and
thecries relative to educations
practice

(D) The development on the part of the

child of realistic goals and effective

plans for their attainment

L
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The objective of environmental
education is

(A)

193,

Raise consciousness about
environmental education

To teach environmentally
appropriate behaviour

(B)

Create an environmental ethic
that fosters awareness aboul
ecological inter-dependence of
economics, social and political

{O) All of the above

(C)

Which of the following is not
influenced by human activities ?

(A)
(B)

194.

Depletion of ground water

Destruction of mangroves and
wetlands

Increased extinction rate of
species

None of the above

(C)

(D)

Environmental education is important
only at

(A) Primary school stage

195.

(B) Secendary school stage
(C) Col!age stage
(D) All stages

Which one of the following is a
fundamental right ?

196.

(A) Right to freedom of religion
(B) Right to property

(C) Right to work

(D) Al of these




197.

198.

B

According to Act 28, which type of

education is resisted in educational

institution ?

(A) Education of specific religion
(B) Mavy education

(C) Moral education

(D) Sex education

Indian Constitution guarantees fo
(A) Fundarenta] duty

(B) Fundamental right

(C) Both (A) and (B)

(D) None of these

199.

200.

¢
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Separation of freedom from the State

means

(A) Socialism
(B) Democracy
(C) Secularism

(D) All of the above

Coercion means
(A) Freedom lo speech

(B) Freedom to religion

(C) Force someone to do something

(D) All of the above




Download From - www.allgovtjobsindia.in

—

“

% JDD-15/SPED/X-14
: IMPORTANT INSTRUCTIONS TO CANDIDATES

Fedfteari & forg wewgul srgaw m

11, This beoklet contains 48 pages, 1. ﬁwﬁ- 48 THE |

12, Please check all the pages of the Booklet
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13. Directions : Each question or incomplets
statemnent Is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question of completes
the statement and blacken (@) appropriate
circle A B, C or D by Blua/Black Ball-Point Pen
against the question concerned in the
Answer-Sheet. (For V.H. candidates
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in this Booklet. All answers must he
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